| 1 | 1 | LakeCounty |
|---|----|----------------------------|
| 1 | 11 | Division of Transportation |

Summary of Bids Received

Project: Martin Luther King Jr Drive Resurfacing

Section: 15-00999-17-RS

Description: Mill, Patch and Resurface

| J. A. Johnson Paving Company | 1025 E. Addison Court | Lake Bluff, IL 60044 Arlington Heights, IL 60005 | Bid Bond Bid Bond | \$1,314,077.18 \$1,651,500.00 | -23.97% -4.45% | -\$414,286.64 -\$76,863.82 |
|------------------------------|-----------------------|---|----------------------|----------------------------------|-------------------|-------------------------------|
| Engineer's Estimate | | | | \$1,728,363.82 | | |
| Design | IDOT(2) | Contract Bidder | _ | PJT then Plan Rack | | _ |
| Finance | Bid Tab File | Resident Eng. | _ | Administrative Assis | tant | |
| Construction | Project File | Request By Mail | _ | Mgr Capital Program | nming | |



Return Bid Tabulation

Project: Martin Luther King Jr Drive Resurfacing

Section: 15-00999-17-RS

Description: Mill, Patch and Resurface

| Item No. | Pay Code | Description | Quantity | Unit | Eng Esti | imate | J. A. Johnson Pa | ving Company | Peter Baker & | Son Company |
|-----------|----------|--|----------|---------|------------|--------------|------------------|--------------|---------------|--------------|
| item ivo: | ruy couc | Beschption | quantity | - Oille | Unit Price | Extnd. Price | Unit Price | Extnd. Price | Unit Price | Extnd. Price |
| 1 | 21001000 | GEOTECHNICAL FABRIC FOR GROUND STABILIZATION | 350.0 | SQ YD | \$2.00 | \$700.00 | \$1.75 | \$612.50 | \$0.10 | \$35.00 |
| 2 | 35101400 | AGGREGATE BASE COURSE, TYPE B | 350.0 | TON | \$30.00 | \$10,500.00 | \$29.00 | \$10,150.00 | \$5.00 | \$1,750.00 |
| 3 | 40600275 | BITUMINOUS MATERIALS (PRIME COAT) | 34,887.0 | LB | \$0.01 | \$348.87 | \$0.01 | \$348.87 | \$0.01 | \$348.87 |
| 4 | 40600535 | LEVELING BINDER (HAND METHOD), N70 | 20.0 | TON | \$500.00 | \$10,000.00 | \$280.00 | \$5,600.00 | \$100.00 | \$2,000.00 |
| 5 | 40603085 | HOT-MIX ASPHALT BINDER COURSE, IL-19.0, N70 | 3,702.0 | TON | \$80.00 | \$296,160.00 | \$72.00 | \$266,544.00 | \$56.30 | \$208,422.60 |
| 6 | 40603340 | HOT-MIX ASPHALT SURFACE COURSE, MIX "D", N70 | 4,690.0 | TON | \$80.00 | \$375,200.00 | \$78.25 | \$366,992.50 | \$69.10 | \$324,079.00 |
| 7 | 42001300 | PROTECTIVE COAT | 975.0 | SQ YD | \$5.00 | \$4,875.00 | \$1.50 | \$1,462.50 | \$2.00 | \$1,950.00 |
| 8 | 42400200 | PORTLAND CEMENT CONCRETE SIDEWALK 5 INCH | 62.0 | SQ FT | \$12.00 | \$744.00 | \$25.00 | \$1,550.00 | \$15.00 | \$930.00 |
| 9 | 42400800 | DETECTABLE WARNINGS | 16.0 | SQ FT | \$50.00 | \$800.00 | \$40.00 | \$640.00 | \$45.00 | \$720.00 |
| 10 | 44000155 | HOT-MIX ASPHALT SURFACE REMOVAL 1 1/2" | 26,861.0 | SQ YD | \$3.00 | \$80,583.00 | \$1.95 | \$52,378.95 | \$2.60 | \$69,838.60 |
| 11 | 44000164 | HOT-MIX ASPHALT SURFACE REMOVAL 3 3/4" | 29,150.0 | SQ YD | \$3.00 | \$87,450.00 | \$3.90 | \$113,685.00 | \$3.50 | \$102,025.00 |
| 12 | 44000300 | CURB REMOVAL | 61.0 | FOOT | \$20.00 | \$1,220.00 | \$15.00 | \$915.00 | \$15.00 | \$915.00 |
| 13 | 44000500 | COMBINATION CURB AND GUTTER REMOVAL | 1,644.0 | FOOT | \$25.00 | \$41,100.00 | \$4.85 | \$7,973.40 | \$3.00 | \$4,932.00 |
| 14 | 44004250 | PAVED SHOULDER REMOVAL | 1,200.0 | SQ YD | \$15.00 | \$18,000.00 | \$11.00 | \$13,200.00 | \$9.75 | \$11,700.00 |
| 15 | 44201749 | CLASS D PATCHES, TYPE I, 9 INCH | 323.0 | SQ YD | \$60.00 | \$19,380.00 | \$35.00 | \$11,305.00 | \$25.00 | \$8,075.00 |
| 16 | 44201753 | CLASS D PATCHES, TYPE II, 9 INCH | 223.0 | SQ YD | \$60.00 | \$13,380.00 | \$35.00 | \$7,805.00 | \$25.00 | \$5,575.00 |
| 17 | 44201757 | CLASS D PATCHES, TYPE III, 9 INCH | 670.0 | SQ YD | \$60.00 | \$40,200.00 | \$35.00 | \$23,450.00 | \$25.00 | \$16,750.00 |
| 18 | 44201759 | CLASS D PATCHES, TYPE IV, 9 INCH | 447.0 | SQ YD | \$60.00 | \$26,820.00 | \$35.00 | \$15,645.00 | \$25.00 | \$11,175.00 |
| 19 | 44201785 | CLASS D PATCHES, TYPE I, 12 INCH | 149.0 | SQ YD | \$60.00 | \$8,940.00 | \$40.00 | \$5,960.00 | \$30.00 | \$4,470.00 |
| 20 | 44201789 | CLASS D PATCHES, TYPE II, 12 INCH | 223.0 | SQ YD | \$60.00 | \$13,380.00 | \$40.00 | \$8,920.00 | \$30.00 | \$6,690.00 |
| 21 | 44201794 | CLASS D PATCHES, TYPE III, 12 INCH | 670.0 | SQ YD | \$60.00 | \$40,200.00 | \$40.00 | \$26,800.00 | \$30.00 | \$20,100.00 |
| 22 | | CLASS D PATCHES, TYPE IV, 12 INCH | 447.0 | SQ YD | \$60.00 | \$26,820.00 | \$40.00 | \$17,880.00 | \$30.00 | \$13,410.00 |
| 23 | 60600605 | CONCRETE CURB, TYPE B | 61.0 | FOOT | \$40.00 | \$2,440.00 | \$30.00 | \$1,830.00 | \$50.00 | \$3,050.00 |



Return Bid Tabulation

Project: Martin Luther King Jr Drive Resurfacing

Section: 15-00999-17-RS

Description: Mill, Patch and Resurface

| Item No. | Pay Code | Description | Quantity | Unit | Eng Est | imate | J. A. Johnson Pa | ving Company | Peter Baker & S | on Company |
|----------|-----------|--|----------|---------|--------------|--------------|------------------|--------------|-----------------|--------------|
| | 1 47 5545 | 25500-priori | Quantity | | Unit Price | Extnd. Price | Unit Price | Extnd. Price | Unit Price | Extnd. Price |
| 24 | 60605100 | COMBINATION CONCRETE CURB & GUTTER, TYPE B-6.24 (ABUTTING EXISTING PAVEMENT) | 1,644.0 | FOOT | \$50.00 | \$82,200.00 | \$26.50 | \$43,566.00 | \$30.00 | \$49,320.00 |
| 25 | 67100100 | MOBILIZATION | 1.0 | L SUM | \$100,000.00 | \$100,000.00 | \$98,000.00 | \$98,000.00 | \$78,689.00 | \$78,689.00 |
| 26 | 70300100 | SHORT TERM PAVEMENT MARKING | 38,174.0 | FOOT | \$0.10 | \$3,817.40 | \$0.01 | \$381.74 | \$0.01 | \$381.74 |
| 27 | 70300210 | TEMPORARY PAVEMENT MARKING - LETTERS AND SYMBOLS | 1,229.0 | SQ FT | \$1.00 | \$1,229.00 | \$0.01 | \$12.29 | \$0.01 | \$12.29 |
| 28 | 70300220 | TEMPORARY PAVEMENT MARKING - LINE 4" | 27,067.0 | FOOT | \$0.25 | \$6,766.75 | \$0.01 | \$270.67 | \$0.01 | \$270.67 |
| 29 | 70300230 | TEMPORARY PAVEMENT MARKING - LINE 5" | 14,774.0 | FOOT | \$0.25 | \$3,693.50 | \$0.01 | \$147.74 | \$0.01 | \$147.74 |
| 30 | 70300240 | TEMPORARY PAVEMENT MARKING - LINE 6" | 3,797.0 | FOOT | \$0.25 | \$949.25 | \$0.01 | \$37.97 | \$0.01 | \$37.97 |
| 31 | 70300250 | TEMPORARY PAVEMENT MARKING - LINE 8" | 1,186.0 | FOOT | \$0.25 | \$296.50 | \$0.01 | \$11.86 | \$0.01 | \$11.86 |
| 32 | 70300260 | TEMPORARY PAVEMENT MARKING - LINE 12" | 2,155.0 | FOOT | \$0.50 | \$1,077.50 | \$0.01 | \$21.55 | \$0.01 | \$21.55 |
| 33 | 70300280 | TEMPORARY PAVEMENT MARKING - LINE 24" | 427.0 | FOOT | \$2.50 | \$1,067.50 | \$0.01 | \$4.27 | \$0.01 | \$4.27 |
| 34 | 70300520 | PAVEMENT MARKING TAPE, TYPE III 4" | 35,424.0 | FOOT | \$1.00 | \$35,424.00 | \$0.01 | \$354.24 | \$0.01 | \$354.24 |
| 35 | 78000100 | THERMOPLASTIC PAVEMENT MARKING - LETTERS AND SYMBOLS | 1,229.0 | SQ FT | \$5.00 | \$6,145.00 | \$3.25 | \$3,994.25 | \$3.25 | \$3,994.25 |
| 36 | 78000200 | THERMOPLASTIC PAVEMENT MARKING - LINE 4" | 235.0 | FOOT | \$1.00 | \$235.00 | \$1.00 | \$235.00 | \$1.00 | \$235.00 |
| 37 | 78000300 | THERMOPLASTIC PAVEMENT MARKING - LINE 5" | 1,161.0 | FOOT | \$1.00 | \$1,161.00 | \$1.33 | \$1,544.13 | \$1.33 | \$1,544.13 |
| 38 | 78001120 | PAINT PAVEMENT MARKING - LINE 5" | 13,613.0 | FOOT | \$0.60 | \$8,167.80 | \$0.80 | \$10,890.40 | \$0.80 | \$10,890.40 |
| 39 | 78300200 | RAISED REFLECTIVE PAVEMENT MARKER REMOVAL | 358.0 | EACH | \$10.00 | \$3,580.00 | \$5.00 | \$1,790.00 | \$8.00 | \$2,864.00 |
| 40 | 88600600 | DETECTOR LOOP REPLACEMENT | 1,389.0 | FOOT | \$35.00 | \$48,615.00 | \$16.50 | \$22,918.50 | \$16.50 | \$22,918.50 |
| 41 | LC400202 | SEAL COAT | 5,148.0 | SQ YD | \$2.00 | \$10,296.00 | \$2.25 | \$11,583.00 | \$2.30 | \$11,840.40 |
| 42 | LC600200 | INSTALL SURVEY MONUMENTS | 6.0 | EACH | \$1,000.00 | \$6,000.00 | \$1,250.00 | \$7,500.00 | \$550.00 | \$3,300.00 |
| 43 | LC780021 | GROOVED THERMOPLASTIC PAVEMENT MARKING - LINE 4" | 27,067.0 | FOOT | \$1.25 | \$33,833.75 | \$1.84 | \$49,803.28 | \$1.84 | \$49,803.28 |



Return Bid Tabulation

Project: Martin Luther King Jr Drive Resurfacing

Section: 15-00999-17-RS

Description: Mill, Patch and Resurface

| Item No. | Pay Code | Description | Quantity | Unit | Eng Est | imate | J. A. Johnson Pa | ving Company | Peter Baker & S | ion Company |
|----------|----------|---|------------|--------|-------------|----------------|------------------|----------------|-----------------|----------------|
| | 10/ 0000 | 2334,413 | - Carriery | | Unit Price | Extnd. Price | Unit Price | Extnd. Price | Unit Price | Extnd. Price |
| 44 | LC780023 | GROOVED THERMOPLASTIC PAVEMENT MARKING - LINE 6" | 4,007.0 | FOOT | \$2.50 | \$10,017.50 | \$2.90 | \$11,620.30 | \$2.90 | \$11,620.30 |
| 45 | LC780024 | GROOVED THERMOPLASTIC PAVEMENT MARKING - LINE 8" | 1,186.0 | FOOT | \$3.00 | \$3,558.00 | \$3.87 | \$4,589.82 | \$3.87 | \$4,589.82 |
| 46 | LC780025 | GROOVED THERMOPLASTIC PAVEMENT MARKING - LINE 12" | 2,155.0 | FOOT | \$5.00 | \$10,775.00 | \$5.80 | \$12,499.00 | \$5.80 | \$12,499.00 |
| 47 | LC780026 | GROOVED THERMOPLASTIC PAVEMENT MARKING - LINE 24" | 427.0 | FOOT | \$10.00 | \$4,270.00 | \$11.60 | \$4,953.20 | \$11.60 | \$4,953.20 |
| 48 | LC800150 | REBUILD EXISTING HEAVY DUTY HANDHOLE | 3.0 | EACH | \$2,000.00 | \$6,000.00 | \$2,030.00 | \$6,090.00 | \$1,550.00 | \$4,650.00 |
| 49 | LC800850 | REMOVE TRAFFIC COUNTER | 1.0 | EACH | \$2,500.00 | \$2,500.00 | \$840.00 | \$840.00 | \$840.00 | \$840.00 |
| 50 | X4401198 | HOT-MIX ASPHALT SURFACE REMOVAL, VARIABLE DEPTH | 1,180.0 | SQ YD | \$8.00 | \$9,440.00 | \$6.00 | \$7,080.00 | \$12.20 | \$14,396.00 |
| 51 | X6700405 | ENGINEER'S FIELD OFFICE, TYPE A (MODIFIED) | 2.0 | CAL MO | \$3,000.00 | \$6,000.00 | \$3,500.00 | \$7,000.00 | \$2,600.00 | \$5,200.00 |
| 52 | X7010216 | TRAFFIC CONTROL AND PROTECTION, (SPECIAL) | 1.0 | L SUM | \$25,000.00 | \$25,000.00 | \$160,123.62 | \$160,123.62 | \$102,279.00 | \$102,279.00 |
| 53 | X7810300 | RECESSED REFLECTIVE PAVEMENT MARKER | 91.0 | EACH | \$30.00 | \$2,730.00 | \$51.00 | \$4,641.00 | \$51.00 | \$4,641.00 |
| 54 | XX006343 | SEEDING (COMPLETE) | 667.0 | SQ YD | \$7.50 | \$5,002.50 | \$22.75 | \$15,174.25 | \$10.00 | \$6,670.00 |
| 55 | XX006947 | HOT-MIX ASPHALT DRIVEWAY REMOVAL AND REPLACEMENT | 1,167.0 | SQ YD | \$25.00 | \$29,175.00 | \$37.60 | \$43,879.20 | \$39.50 | \$46,096.50 |
| 56 | XX003435 | PORTLAND CEMENT CONCRETE DRIVEWAY REMOVAL AND REPLACEMENT | 1,860.0 | SQ YD | \$35.00 | \$65,100.00 | \$58.00 | \$107,880.00 | \$1.00 | \$1,860.00 |
| 57 | Z0018400 | DRAINAGE STRUCTURES TO BE ADJUSTED | 60.0 | EACH | \$550.00 | \$33,000.00 | \$400.00 | \$24,000.00 | \$200.00 | \$12,000.00 |
| 58 | Z0018600 | DRAINAGE STRUCTURES TO BE RECONSTRUCTED | 27.0 | EACH | \$1,000.00 | \$27,000.00 | \$945.00 | \$25,515.00 | \$200.00 | \$5,400.00 |
| 59 | Z0048665 | RAILROAD PROTECTIVE LIABILITY INSURANCE | 1.0 | L SUM | \$15,000.00 | \$15,000.00 | \$900.00 | \$900.00 | \$20,800.00 | \$20,800.00 |
| | | Bid Total | | | | \$1,728,363.82 | | \$1,651,500.00 | | \$1,314,077.18 |



Project: Martin Luther King Jr Drive Resurfacing

Section: 15-00999-17-RS

Description: Mill, Patch and Resurface

| | | | | | Eng Es | timate | | | |
|----------|----------|--|----------|-------|------------|--------------|----------------|----------------|----------------|
| Item No. | Pay Code | Description | Quantity | Unit | Unit Price | Extnd. Price | Min. Bid Price | Max. Bid Price | Avg. Bid Price |
| | | | | | | | | | |
| 1 | 21001000 | GEOTECHNICAL FABRIC FOR GROUND STABILIZATION | 350.0 | SQ YD | \$2.00 | \$700.00 | \$0.10 | \$1.75 | \$0.93 |
| 2 | 35101400 | AGGREGATE BASE COURSE, TYPE B | 350.0 | TON | \$30.00 | \$10,500.00 | \$5.00 | \$29.00 | \$17.00 |
| 3 | 40600275 | BITUMINOUS MATERIALS (PRIME COAT) | 34,887.0 | LB | \$0.01 | \$348.87 | \$0.01 | \$0.01 | \$0.01 |
| 4 | 40600535 | LEVELING BINDER (HAND METHOD), N70 | 20.0 | TON | \$500.00 | \$10,000.00 | \$100.00 | \$280.00 | \$190.00 |
| 5 | 40603085 | HOT-MIX ASPHALT BINDER COURSE, IL-19.0, N70 | 3,702.0 | TON | \$80.00 | \$296,160.00 | \$56.30 | \$72.00 | \$64.15 |
| 6 | 40603340 | HOT-MIX ASPHALT SURFACE COURSE, MIX "D", N70 | 4,690.0 | TON | \$80.00 | \$375,200.00 | \$69.10 | \$78.25 | \$73.68 |
| 7 | 42001300 | PROTECTIVE COAT | 975.0 | SQ YD | \$5.00 | \$4,875.00 | \$1.50 | \$2.00 | \$1.75 |
| 8 | 42400200 | PORTLAND CEMENT CONCRETE SIDEWALK 5 INCH | 62.0 | SQ FT | \$12.00 | \$744.00 | \$15.00 | \$25.00 | \$20.00 |
| 9 | 42400800 | DETECTABLE WARNINGS | 16.0 | SQ FT | \$50.00 | \$800.00 | \$40.00 | \$45.00 | \$42.50 |
| 10 | 44000155 | HOT-MIX ASPHALT SURFACE REMOVAL 1 1/2" | 26,861.0 | SQ YD | \$3.00 | \$80,583.00 | \$1.95 | \$2.60 | \$2.28 |
| 11 | 44000164 | HOT-MIX ASPHALT SURFACE REMOVAL 3 3/4" | 29,150.0 | SQ YD | \$3.00 | \$87,450.00 | \$3.50 | \$3.90 | \$3.70 |
| 12 | 44000300 | CURB REMOVAL | 61.0 | FOOT | \$20.00 | \$1,220.00 | \$15.00 | \$15.00 | \$15.00 |
| 13 | 44000500 | COMBINATION CURB AND GUTTER REMOVAL | 1,644.0 | FOOT | \$25.00 | \$41,100.00 | \$3.00 | \$4.85 | \$3.93 |



Project: Martin Luther King Jr Drive Resurfacing

Section: 15-00999-17-RS

Description: Mill, Patch and Resurface

| | | | | | Eng Es | timate | | | |
|----------|----------|--|----------|-------|--------------|--------------|----------------|----------------|----------------|
| Item No. | Pay Code | Description | Quantity | Unit | Unit Price | Extnd. Price | Min. Bid Price | Max. Bid Price | Avg. Bid Price |
| 14 | 44004250 | PAVED SHOULDER REMOVAL | 1,200.0 | SQ YD | \$15.00 | \$18,000.00 | \$9.75 | \$11.00 | \$10.38 |
| 15 | 44201749 | CLASS D PATCHES, TYPE I, 9 INCH | 323.0 | SQ YD | \$60.00 | \$19,380.00 | \$25.00 | \$35.00 | \$30.00 |
| 16 | 44201753 | CLASS D PATCHES, TYPE II, 9 INCH | 223.0 | SQ YD | \$60.00 | \$13,380.00 | \$25.00 | \$35.00 | \$30.00 |
| 17 | 44201757 | CLASS D PATCHES, TYPE III, 9 INCH | 670.0 | SQ YD | \$60.00 | \$40,200.00 | \$25.00 | \$35.00 | \$30.00 |
| 18 | 44201759 | CLASS D PATCHES, TYPE IV, 9 INCH | 447.0 | SQ YD | \$60.00 | \$26,820.00 | \$25.00 | \$35.00 | \$30.00 |
| 19 | 44201785 | CLASS D PATCHES, TYPE I, 12 INCH | 149.0 | SQ YD | \$60.00 | \$8,940.00 | \$30.00 | \$40.00 | \$35.00 |
| 20 | 44201789 | CLASS D PATCHES, TYPE II, 12 INCH | 223.0 | SQ YD | \$60.00 | \$13,380.00 | \$30.00 | \$40.00 | \$35.00 |
| 21 | 44201794 | CLASS D PATCHES, TYPE III, 12 INCH | 670.0 | SQ YD | \$60.00 | \$40,200.00 | \$30.00 | \$40.00 | \$35.00 |
| 22 | 44201796 | CLASS D PATCHES, TYPE IV, 12 INCH | 447.0 | SQ YD | \$60.00 | \$26,820.00 | \$30.00 | \$40.00 | \$35.00 |
| 23 | 60600605 | CONCRETE CURB, TYPE B | 61.0 | FOOT | \$40.00 | \$2,440.00 | \$30.00 | \$50.00 | \$40.00 |
| 24 | 60605100 | COMBINATION CONCRETE CURB & GUTTER, TYPE B-6.24 (ABUTTING EXISTING PAVEMENT) | 1,644.0 | FOOT | \$50.00 | \$82,200.00 | \$26.50 | \$30.00 | \$28.25 |
| 25 | 67100100 | MOBILIZATION | 1.0 | L SUM | \$100,000.00 | \$100,000.00 | \$78,689.00 | \$98,000.00 | \$88,344.50 |
| 26 | 70300100 | SHORT TERM PAVEMENT MARKING | 38,174.0 | FOOT | \$0.10 | \$3,817.40 | \$0.01 | \$0.01 | \$0.01 |
| 27 | 70300210 | TEMPORARY PAVEMENT MARKING - LETTERS AND SYMBOLS | 1,229.0 | SQ FT | \$1.00 | \$1,229.00 | \$0.01 | \$0.01 | \$0.01 |
| 28 | 70300220 | TEMPORARY PAVEMENT MARKING - LINE 4" | 27,067.0 | FOOT | \$0.25 | \$6,766.75 | \$0.01 | \$0.01 | \$0.01 |
| 29 | 70300230 | TEMPORARY PAVEMENT MARKING - LINE 5" | 14,774.0 | FOOT | \$0.25 | \$3,693.50 | \$0.01 | \$0.01 | \$0.01 |
| 30 | 70300240 | TEMPORARY PAVEMENT MARKING - LINE 6" | 3,797.0 | FOOT | \$0.25 | \$949.25 | \$0.01 | \$0.01 | \$0.01 |
| 31 | 70300250 | TEMPORARY PAVEMENT MARKING - LINE 8" | 1,186.0 | FOOT | \$0.25 | \$296.50 | \$0.01 | \$0.01 | \$0.01 |



Project: Martin Luther King Jr Drive Resurfacing

Section: 15-00999-17-RS

Description: Mill, Patch and Resurface

| | | | | | Eng Estimate | | | | |
|----------|----------|---|----------|-------|--------------|--------------|----------------|----------------|----------------|
| Item No. | Pay Code | Description | Quantity | Unit | Unit Price | Extnd. Price | Min. Bid Price | Max. Bid Price | Avg. Bid Price |
| 32 | 70300260 | TEMPORARY PAVEMENT MARKING - LINE 12" | 2,155.0 | FOOT | \$0.50 | \$1,077.50 | \$0.01 | \$0.01 | \$0.01 |
| 33 | 70300280 | TEMPORARY PAVEMENT MARKING - LINE 24" | 427.0 | FOOT | \$2.50 | \$1,067.50 | \$0.01 | \$0.01 | \$0.01 |
| 34 | 70300520 | PAVEMENT MARKING TAPE, TYPE III 4" | 35,424.0 | FOOT | \$1.00 | \$35,424.00 | \$0.01 | \$0.01 | \$0.01 |
| 35 | 78000100 | THERMOPLASTIC PAVEMENT MARKING - LETTERS AND SYMBOLS | 1,229.0 | SQ FT | \$5.00 | \$6,145.00 | \$3.25 | \$3.25 | \$3.25 |
| 36 | 78000200 | THERMOPLASTIC PAVEMENT MARKING - LINE 4" | 235.0 | FOOT | \$1.00 | \$235.00 | \$1.00 | \$1.00 | \$1.00 |
| 37 | 78000300 | THERMOPLASTIC PAVEMENT MARKING - LINE 5" | 1,161.0 | FOOT | \$1.00 | \$1,161.00 | \$1.33 | \$1.33 | \$1.33 |
| 38 | 78001120 | PAINT PAVEMENT MARKING - LINE 5" | 13,613.0 | FOOT | \$0.60 | \$8,167.80 | \$0.80 | \$0.80 | \$0.80 |
| 39 | 78300200 | RAISED REFLECTIVE PAVEMENT MARKER REMOVAL | 358.0 | EACH | \$10.00 | \$3,580.00 | \$5.00 | \$8.00 | \$6.50 |
| 40 | 88600600 | DETECTOR LOOP REPLACEMENT | 1,389.0 | FOOT | \$35.00 | \$48,615.00 | \$16.50 | \$16.50 | \$16.50 |
| 41 | LC400202 | SEAL COAT | 5,148.0 | SQ YD | \$2.00 | \$10,296.00 | \$2.25 | \$2.30 | \$2.28 |
| 42 | LC600200 | INSTALL SURVEY MONUMENTS | 6.0 | EACH | \$1,000.00 | \$6,000.00 | \$550.00 | \$1,250.00 | \$900.00 |
| 43 | LC780021 | GROOVED THERMOPLASTIC PAVEMENT MARKING - LINE 4" | 27,067.0 | FOOT | \$1.25 | \$33,833.75 | \$1.84 | \$1.84 | \$1.84 |



Project: Martin Luther King Jr Drive Resurfacing

Section: 15-00999-17-RS

Description: Mill, Patch and Resurface

| | | | | | Eng Es | timate | | | |
|----------|----------|--|----------|--------|-------------|--------------|----------------|----------------|----------------|
| Item No. | Pay Code | Description | Quantity | Unit | Unit Price | Extnd. Price | Min. Bid Price | Max. Bid Price | Avg. Bid Price |
| 44 | LC780023 | GROOVED THERMOPLASTIC PAVEMENT MARKING - LINE 6" | 4,007.0 | FOOT | \$2.50 | \$10,017.50 | \$2.90 | \$2.90 | \$2.90 |
| 45 | LC780024 | GROOVED THERMOPLASTIC PAVEMENT MARKING - LINE 8" | 1,186.0 | FOOT | \$3.00 | \$3,558.00 | \$3.87 | \$3.87 | \$3.87 |
| 46 | LC780025 | GROOVED THERMOPLASTIC PAVEMENT MARKING - LINE 12" | 2,155.0 | FOOT | \$5.00 | \$10,775.00 | \$5.80 | \$5.80 | \$5.80 |
| 47 | LC780026 | GROOVED THERMOPLASTIC PAVEMENT MARKING - LINE 24" | 427.0 | FOOT | \$10.00 | \$4,270.00 | \$11.60 | \$11.60 | \$11.60 |
| 48 | LC800150 | REBUILD EXISTING HEAVY DUTY HANDHOLE | 3.0 | EACH | \$2,000.00 | \$6,000.00 | \$1,550.00 | \$2,030.00 | \$1,790.00 |
| 49 | LC800850 | REMOVE TRAFFIC COUNTER | 1.0 | EACH | \$2,500.00 | \$2,500.00 | \$840.00 | \$840.00 | \$840.00 |
| 50 | X4401198 | HOT-MIX ASPHALT SURFACE REMOVAL, VARIABLE DEPTH | 1,180.0 | SQ YD | \$8.00 | \$9,440.00 | \$6.00 | \$12.20 | \$9.10 |
| 51 | X6700405 | ENGINEER'S FIELD OFFICE, TYPE A (MODIFIED) | 2.0 | CAL MO | \$3,000.00 | \$6,000.00 | \$2,600.00 | \$3,500.00 | \$3,050.00 |
| 52 | X7010216 | TRAFFIC CONTROL AND PROTECTION, (SPECIAL) | 1.0 | L SUM | \$25,000.00 | \$25,000.00 | \$102,279.00 | \$160,123.62 | \$131,201.31 |
| 53 | X7810300 | RECESSED REFLECTIVE PAVEMENT MARKER | 91.0 | EACH | \$30.00 | \$2,730.00 | \$51.00 | \$51.00 | \$51.00 |
| 54 | XX006343 | SEEDING (COMPLETE) | 667.0 | SQ YD | \$7.50 | \$5,002.50 | \$10.00 | \$22.75 | \$16.38 |
| 55 | XX006947 | HOT-MIX ASPHALT DRIVEWAY REMOVAL AND REPLACEMENT | 1,167.0 | SQ YD | \$25.00 | \$29,175.00 | \$37.60 | \$39.50 | \$38.55 |



Project: Martin Luther King Jr Drive Resurfacing

Section: 15-00999-17-RS

Description: Mill, Patch and Resurface

| | | | | | Eng Estimate | | | | |
|----------|----------|---|----------|-------|--------------|----------------|----------------|----------------|----------------|
| Item No. | Pay Code | Description | Quantity | Unit | Unit Price | Extnd. Price | Min. Bid Price | Max. Bid Price | Avg. Bid Price |
| 56 | XX003435 | PORTLAND CEMENT CONCRETE DRIVEWAY REMOVAL AND REPLACEMENT | 1,860.0 | SQ YD | \$35.00 | \$65,100.00 | \$1.00 | \$58.00 | \$29.50 |
| 57 | Z0018400 | DRAINAGE STRUCTURES TO BE ADJUSTED | 60.0 | EACH | \$550.00 | \$33,000.00 | \$200.00 | \$400.00 | \$300.00 |
| 58 | Z0018600 | DRAINAGE STRUCTURES TO BE RECONSTRUCTED | 27.0 | EACH | \$1,000.00 | \$27,000.00 | \$200.00 | \$945.00 | \$572.50 |
| 59 | Z0048665 | RAILROAD PROTECTIVE LIABILITY INSURANCE | 1.0 | L SUM | \$15,000.00 | \$15,000.00 | \$900.00 | \$20,800.00 | \$10,850.00 |
| | | Bid Total | | | | \$1,728,363.82 | | | |